
Prüfungsaufgaben Aufgabe 142 
 

 

 
 

Im Dreieck ABH gilt: 
 

BH = CF/2 = 63 cm/2 = 31,5 cm 
 

                   BH  
sin 80°/2 = ----- | *AB 

                   AB    
 

sin 40° * AB = BH | :sin 40° 

 
            BH         31,5 cm 

AB = --------- = ---------- = 49 cm 
         sin 40°       sin 40°  

 
MKegel = π * BH * AB = π * 31,5 cm * 49 cm = 4 846,6 cm² 

 
MZylinder = 2 * π * BH * HM 

 
Im Dreieck ABH gilt: 



                   BH 
tan 80°/2 = ----- | *AH 

                   AH 
 

AH * tan 40° = BH | :tan 40° 
 

            BH          31,5 cm 

AH = --------- = ------------ = 37,54 cm 
         tan 40°       tan 40°    

 
MH = AM - AH = 70 cm - 37,54 cm = 32,46 cm 

 
MZylinder = 2 * π * 31,5 cm * 32,46 cm = 6 421,2 cm² 

 
AKreisring = π * (BH² - MD²) = π * (31,5² - 15²) cm² = 2 409,2 cm² 

 
AHalbkugel = 2 * π * MD² = 2 * π * 15² cm² = 1 413 cm² 

 
A = 4 846,6 cm² + 6 421,2 cm² + 2 409,2 cm² + 1 413 cm²  

 
A = 15 100 cm² = 1,51 m² --> größere Farbdose nötig 

 


